Key: BALANCING CHEMICAL EQUATIONS
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Note that several of these equations are already balanced as written

Li,0 + H,0 ---> 2LiOH 24. CHsOH + 20; ---> 2CO0 + 3H:0

CaCy + 2H,0 ---> C,H, + Ca(OH): 25.  Xe + 3F; ---> XeFs

2Fe(OH)3 ---> Fe;03 + 3H20 26.  NH4sNOs3 ---> N0 + H0

2Pb(N0O3); ---> 2PbO + 4NO; + O, 27.  2Au;03 ---> 3Au + 30

BaO + H,0 ---> Ba(OH): 28.  2C4Hip + 130, ---> 8CO; + 10H:0

3Ca + 2AICl; ---> 3CaCl, + 2Al 29.  Fes04 + 4Hz ---> 3Fe + 4H:0

4NH; + 6NO ---> 5N, + 6H20 30. 302 ---> 203

4H3;P0; ---> 3H3POs + PHj 31. I + 6HNO3 ---> 2HIO3; + 6NO, + 2H;
Fe;0; + 3C ---> 3CO + 2Fe 32. 2C¢H¢ + 150, ---> 12C0O; + 6H0

4FeS + 70, ---> 2Fe,0; + 450, 33.  CHsOH + 302 ---> 2C02 + 3H20

4NH; + 50, ---> 4NO + 6H,0 34. 12HCIO4 + P4010 ---> 4H3POs + 6Cl207
4Si + Sg ---> 2Si,S4 35. 3BaCl; + Aly(SO4); ---> 4BaS0s + 2AICl;
Hg,CO3 ---> Hg + HgO + CO; 36. (NH4)2Cr207 ---> Crz;03 + Nz + 4H20
SiC + 2Clz ---> SiCly + C 37.  2NaHCOs3 ---> NaCO3 + CO2 + H20
AliC3 + 12H,0 --->3 CHs + 4AI(OH); 38.  Fey(C204)3 ---> ?FeC204 + CO:

V205 + 6HCl ---> 2VOCl; + 3H,0 39. CasP; + 6H20 ---> 2Ca(OH): + 2PHs
Ag>S + 4KCN ---> 2KAg(CN); + K»S 40. 2As + 6NaOH ---> 2Na3AsOz + 3H;

Au,S; + 3H, ---> 2Au + 3H,S 41. 2MgNH.PO4 ---> Mg,P,07; + 2NHz + H20
2Cl0; + H,0 ---> HCIO; + HCIOs 42.  MnOz + 4HCl ---> MnCl; + 2H:0 + Cl;
4K0, + 2CO0; ---> 2K,CO03 + 30, 43. Pb + 4Na + 4CyHsCl ---> Pb(CzHs)s + 4NaCl
H3PO,4 + SHCl---> PCls + 4H,0 44. Ca(OH); + H3PO, ---> CaHPOs + 2H;0
2HCl + K;CO3 ---> 2KCl + H0 + CO; 45. Zn + 2NaOH + 2H;0 ---> NaZn(OH)s + H»
Ca(Cl03)2 ---> CaClz + 30 46.  SrBra + (NH4)2CO03 ---> SrCOsz + 2ZNH4Br

3Hg(OH), + 2H3P04; ---> Hgs(P04). + 6H20

2Ca3(P04); + 6Si0, + 10C ---> 6CaSi03 + P4 + 10CO

214,09 ---> 21,06 + 2I; + 30 (this equation can be balanced with various sets of coefficients)
2CzHsCl + 50, ---> 4C0; + 2H,0 + 2HCI

2 (NH4)2Cr207 ---> 4NHz; + 2H,0 + 2Cr;03 + 20;

2NH4Cl + Ca(OH); ---> CaCl, + 2NHz + 2H,0

3Al + 3NH4ClO4 ---> AlLO3z + AIClz; + 3NO + 6H:0

H,SO, + 2NaHCO; ---> Na;SO0, + 2C0; + 2H:0

Ca19F2(P0O4)s + 7H2S04 ---> 3Ca(HzPO4); + 7CaS0, + 2HF

Ca3(P04)2 + 2H,SO04 ---> 2CaSOs + Ca(H2PO04)2

HsPO, + 12(NH4);MoOs + 21HNOs ---> (NH4)3POs-12Mo0Os + 21NH4NOs; + 12H20
2C4Hio + 2Cl; + 802 ---> 3C0O; + CCly + 10H:0

2C;HioN + 210, ---> 14CO; + 10H20 + 2NO;



60. 10K4Fe(CN)e + 122KMnO4 + 299H;S04 ---> 162KHSO4 + 5Fez(S04)3 + 122MnS04 + 60HNO3 + 60CO; +188H,0



